
P ro bl em Set 1

Chp 2 #2 

a) Nom inal  GDP in 1998=(100*$10) +( 200*$1)+(500*$0.50)=$1450
b) Nom inal  GDP in 1999=(110*$10) +( 200*$1.50) +( 450*$1)=$1850
c) Real GDP  i n 1998 is $1450 ( same as nomi nal GDP , since 1998 i s base year) 

Real GDP  i n 1999=(110*$10)+(200*$1)+( 450*$0. 50)=$1525
P er cent age change i n r eal  GDP =( $1525- $1450) / $1450=0.01517,  an i ncrease of  5.2 % 

d) Real GDP  i n 1998=(100*$10)+(200*$1.50)+(500*$1)=$1800
Real GDP  i n 1999 is $1850 ( same as nomi nal GDP , since 1999 i s base year) 
P er cent age change i n r eal  GDP =( $1850- $1800) / $1800=0.0278, an incr ease of  2. 8 %

e) T he stat em ent  i s tr ue.  I n t hi s probl em,  we have obt ai ned t wo di ff er ent  gr owth r ates by
usi ng t wo di f ferent  base peri ods

. 

Chp 3 #1 

a) Y=C+I +G=100+0.6(Y-100) +50+250=310+0. 6Y
Y=*50

b) Yd =Y- T=850-100=750
c) C=100+0. 6Yd =100+0. 6(750) =550
d) S = Yd - C=750- 550=200
e) P ubli c Saving = Budget  S urplus( T -G)=( 100- 250)= - 150
f) Mul ti pl i er =1/ (1-m ar ginal  pr opensit y to consume)=2.5

Chp 3 #2 

a) I n equi l ibri um
P roduct i on=850
Dem and=C+I +G=850

b) T ot al  savi ng = Pr ivate S avi ng + Publ i c Savi ng=200+( -150) =50

 Chp 3 #3 

a) T he m ul t ipli er is 1/ (1-0. 6) =2.5
∆ GDP =2.5∆ G
we want  ∆ GDP =100,  t her ef or e ∆ G=40

b) We need autonom ous spendi ng t o change by 40.  A t ax cut wil l increase t he
consumpt ion com ponent of  autonom ous spending. But ,since onl y 60 percent  of the t ax
cut  wil l  be spent , we need a tax cut  of  40/ 0.6=66.67



Chp 3 #4 

a) Y=C+I +G=C0 +C1 ( Y- T) +I +G= C0 +C1 ( Y- T0 - t1 Y)+I+G= C0 - C1 ( T0 ) +I +G+C1 Y-C1 t 1 Y
Y={ C0 -  C1 ( T0 ) +I +G}/ [ 1- C1 ( 1- t1 ) 

b) T he m ul t ipli er is 1/ [1-C1 ( 1- t1 ) ]
c) T hgis m ult ipl ier is sm al l er  t han t he one obt ai ned wit h exogenous taxes.

Chp 4 #1 

a) I n equi l ibri um wi th const ant Y, Yt+ 1 is t he same as Yt,  so we can ignor e the t i me
subscri pts and solve t hi s m odel . 
Y=C+I +G=50+0. 75(Y-100) +25+150
Y=800

b)
t t +1 t +2
∆ C= 0 ∆ C= -75 ∆ C= -56. 25
∆ Z = -100 ∆ Z = -75 ∆ Z = -56. 25
∆ Y= 0 ∆ Y= -100 ∆ C= -75

d) i ) T he m ul t ipli er is 1/ (1-0. 75)= 4,  so the f al l  i n G shoul d cause a 400 drop i n
equil ibr ium Y, to 200
ii) I n equi l ibri um Yt = Z t , so demand wi ll  al so be 200
iii) C=50+0. 75( Yt - Y )_=50+0.75(200 -  100) =125

e) T he change i n out put  i n the f ir st fi ve peri ods i s -100 - 75 -56.25 -42.19 -31.64


